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1 Introduction

In RAN4#93, RAN4 agreed on link-level simulation assumptions for PRS RSTD and RSRP in [1]. The assumptions were updated in few parameters during RAN4#94-e [2].

In this contribution, we present link-level simulation results for PRS-RSRP, based on the updated simulation assumptions [2].
2 Discussion
The provided link-level simulation results for PRS-RSRP errors are based on the updated simulation assumptions in [2]. No muting and no power boosting were assumed.
We summarize the simulation results, where we show PRS-RSRP error (90%-ile of the CDF) in dB for:
· TDL-A (FR1)
· Table 1a: Es/Iot=-3 dB
· Table 1b: Es/Iot=-10 dB
· Table 1c: Es/Iot=-13 dB
· TDL-B (FR1)
· Table 2a: Es/Iot=-3 dB

· Table 3b: Es/Iot=-10 dB
· Table 4c: Es/Iot=-13 dB
· TDL-C (FR1)

· Table 3a: Es/Iot=-3 dB

· Table 3b: Es/Iot=-10 dB
· Table 3c: Es/Iot=-13 dB
· TDL-C (FR2)
· Table 4a: Es/Iot=-3 dB

· Table 4b: Es/Iot=-10 dB
· Table 4c: Es/Iot=-13 dB
· Observation: Multiple repetitions (or more generally comb realizations) provide gains; 16 repetitions are necessary at Es/Iot=-13 dB.
· Proposal 1: The proposals on the number of comb realization for PRS-RSRP accuracy requirements can be collected according to the format:
	FRx, SCS, number of PRBs
	Minimum number of comb realizations

	
	Es/Iot≥-3
	Es/Iot≥-6
	Es/Iot≥-13

	FR1, 15 kHz, ≤52 PRBs (10 MHz)
	X
	Y
	Z


· Proposal 2: The proposals on the number of comb realization for PRS-RSRP accuracy requirements can be collected according to the format:

	FRx, SCS, number of PRBs
	Minimum number of comb realizations

	
	Es/Iot≥-3
	Es/Iot≥-6
	Es/Iot≥-13

	FR1, 15 kHz, ≤52 PRBs (10 MHz)
	2
	4
	16

	FR1, 15 kHz, ≤104 PRBs (20 MHz)
	2
	2
	8

	FR1, 15 kHz, >104 PRBs
	1
	1
	1

	FR1, 30 kHz, ≤48 PRBs (20 MHz)
	2
	4
	16

	FR1, 30 kHz, ≤132PRBs (30 MHz)
	2
	2
	8

	FR1, 30 kHz, ≤272 PRBs (100 MHz)
	1
	1
	1

	FR2, 120 kHz, ≤32 PRBs (50 MHz)
	2
	4
	16

	FR2, 120 kHz, >32 PRBs
	1
	1
	1


2.1 Simulation results for TDL-A
Table 1a: Results for TDL-A channel model, FR1, PRS-RSRP at Es/Iot=-3 dB
	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	1,0
	0,9
	1,0
	1,0
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	2
	20
	0,6
	0,7
	0,7
	0,7
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,3
	0,3

	2
	15
	2
	50
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,2
	0,2

	4
	30
	2
	20
	1,0
	1,1
	1,0
	1,1
	0,7
	0,7
	0,7
	0,7
	0,5
	0,6
	0,6
	0,5

	4
	30
	2
	50
	0,6
	0,6
	0,6
	0,6
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,4
	0,3

	4
	30
	2
	100
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3
	0,3
	0,3
	0,3
	0,3

	2
	15
	4
	10
	1,0
	1,0
	1,0
	1,1
	0,7
	0,6
	0,7
	0,7
	0,6
	0,5
	0,5
	0,6

	2
	15
	4
	20
	0,6
	0,6
	0,7
	0,7
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3

	2
	15
	4
	50
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,2
	0,2

	4
	30
	4
	20
	1,0
	1,0
	1,0
	1,0
	0,7
	0,7
	0,7
	0,7
	0,6
	0,6
	0,6
	0,6

	4
	30
	4
	50
	0,6
	0,6
	0,6
	0,6
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,4
	0,3

	4
	30
	4
	100
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,3
	0,3
	0,2
	0,3
	0,3
	0,2

	2
	15
	6
	10
	1,0
	1,0
	1,0
	1,0
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	6
	20
	0,7
	0,6
	0,6
	0,7
	0,5
	0,4
	0,5
	0,4
	0,4
	0,3
	0,3
	0,4

	2
	15
	6
	50
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,2
	0,2

	4
	30
	6
	20
	0,9
	1,0
	1,1
	1,1
	0,7
	0,7
	0,7
	0,7
	0,6
	0,6
	0,6
	0,6

	4
	30
	6
	50
	0,6
	0,6
	0,6
	0,6
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3

	4
	30
	6
	100
	0,4
	0,5
	0,4
	0,4
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,2
	0,2


Table 1b: Results for TDL-A channel model, FR1, PRS-RSRP at Es/Iot=-6 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	1,9
	1,6
	1,7
	1,8
	1,1
	1,0
	1,1
	1,1
	0,8
	0,8
	0,8
	0,8

	2
	15
	2
	20
	1,1
	1,1
	1,2
	1,2
	0,7
	0,7
	0,6
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	2
	50
	0,7
	0,7
	0,8
	0,8
	0,5
	0,5
	0,5
	0,4
	0,3
	0,3
	0,3
	0,3

	4
	30
	2
	20
	1,7
	1,9
	1,8
	1,8
	1,1
	1,2
	1,2
	1,1
	0,8
	0,9
	0,9
	0,9

	4
	30
	2
	50
	1,0
	1,0
	1,0
	1,1
	0,7
	0,6
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	4
	30
	2
	100
	0,7
	0,7
	0,7
	0,8
	0,5
	0,5
	0,5
	0,6
	0,4
	0,4
	0,4
	0,4

	2
	15
	4
	10
	1,7
	1,7
	1,9
	2,1
	1,1
	1,0
	1,1
	1,1
	0,8
	0,8
	0,7
	0,8

	2
	15
	4
	20
	1,1
	1,1
	1,1
	1,2
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	4
	50
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5
	0,3
	0,3
	0,3
	0,3

	4
	30
	4
	20
	1,8
	1,8
	1,8
	1,9
	1,1
	1,1
	1,1
	1,1
	0,9
	0,8
	0,9
	0,9

	4
	30
	4
	50
	1,1
	1,0
	1,1
	1,0
	0,7
	0,7
	0,7
	0,8
	0,5
	0,5
	0,5
	0,5

	4
	30
	4
	100
	0,7
	0,8
	0,7
	0,8
	0,5
	0,5
	0,5
	0,5
	0,4
	0,4
	0,4
	0,4

	2
	15
	6
	10
	1,8
	1,7
	1,7
	1,7
	1,0
	1,1
	1,1
	1,1
	0,8
	0,8
	0,8
	0,8

	2
	15
	6
	20
	1,1
	1,1
	1,1
	1,3
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	6
	50
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,4
	0,5
	0,3
	0,3
	0,4
	0,3

	4
	30
	6
	20
	1,6
	1,6
	1,8
	1,9
	1,1
	1,1
	1,2
	1,2
	0,9
	0,9
	0,9
	0,9

	4
	30
	6
	50
	1,0
	1,1
	1,1
	1,1
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	4
	30
	6
	100
	0,7
	0,8
	0,7
	0,8
	0,5
	0,5
	0,5
	0,5
	0,4
	0,4
	0,4
	0,4


Table 1c: Results for TDL-A channel model, FR1, PRS-RSRP at Es/Iot=-13 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	5,9
	5,7
	5,2
	5,2
	4,2
	4,6
	2,2
	2,8
	2,5
	2,5
	2,5
	1,4

	2
	15
	2
	20
	4,3
	4,5
	4,6
	4,6
	2,7
	2,7
	1,2
	1,7
	1,7
	1,7
	1,6
	0,8

	2
	15
	2
	50
	3,2
	3,5
	3,9
	3,2
	2,0
	1,7
	0,5
	1,2
	1,1
	1,1
	1,1
	0,6

	4
	30
	2
	20
	6,6
	6,7
	5,4
	5,0
	4,9
	4,9
	2,6
	3,2
	3,3
	3,3
	2,8
	2,0

	4
	30
	2
	50
	4,4
	4,9
	4,8
	4,1
	2,9
	2,5
	1,0
	2,0
	1,6
	1,6
	1,7
	1,0

	4
	30
	2
	100
	3,7
	3,7
	4,0
	3,6
	1,8
	2,0
	0,8
	1,5
	1,2
	1,2
	1,3
	0,9

	2
	15
	4
	10
	6,1
	6,2
	5,4
	5,3
	5,0
	4,2
	2,9
	3,5
	2,8
	2,8
	2,6
	1,5

	2
	15
	4
	20
	5,2
	5,7
	4,6
	3,4
	3,0
	2,4
	1,6
	1,8
	1,7
	1,7
	1,7
	0,9

	2
	15
	4
	50
	3,7
	3,6
	4,3
	2,7
	1,8
	1,9
	1,0
	1,2
	1,0
	1,0
	1,1
	0,6

	4
	30
	4
	20
	7,3
	6,5
	5,7
	5,0
	4,7
	4,4
	3,0
	3,7
	2,9
	2,9
	2,9
	1,8

	4
	30
	4
	50
	4,6
	4,8
	4,5
	3,9
	2,7
	2,7
	1,4
	1,8
	1,6
	1,6
	1,6
	1,2

	4
	30
	4
	100
	3,4
	3,6
	3,6
	3,8
	1,9
	2,0
	1,1
	1,6
	1,2
	1,2
	1,3
	0,8

	2
	15
	6
	10
	6,2
	5,9
	5,2
	4,8
	4,3
	4,3
	3,0
	3,1
	2,8
	2,8
	2,6
	1,5

	2
	15
	6
	20
	4,9
	4,8
	4,7
	4,7
	2,6
	2,6
	1,9
	1,9
	1,6
	1,6
	1,6
	0,9

	2
	15
	6
	50
	3,9
	3,6
	3,2
	2,7
	1,7
	1,8
	1,1
	1,2
	1,0
	1,0
	1,1
	0,5

	4
	30
	6
	20
	5,8
	6,4
	6,3
	4,9
	4,5
	4,5
	3,1
	3,3
	2,7
	2,7
	2,9
	1,9

	4
	30
	6
	50
	4,8
	4,4
	4,5
	3,8
	2,5
	2,7
	1,8
	2,2
	1,6
	1,6
	1,8
	1,2

	4
	30
	6
	100
	3,8
	3,5
	3,8
	4,0
	1,9
	1,9
	1,3
	1,6
	1,2
	1,2
	1,2
	0,8


2.2 Simulation results for TDL-B
Table 2a: Results for TDL-B channel model, FR1, PRS-RSRP at Es/Iot=-3 dB
	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	0,9
	0,9
	0,9
	1,0
	0,6
	0,6
	0,6
	0,6
	0,4
	0,4
	0,4
	0,4

	2
	15
	2
	20
	0,7
	0,7
	0,7
	0,7
	0,4
	0,4
	0,4
	0,4
	0,3
	0,3
	0,3
	0,3

	2
	15
	2
	50
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,2
	0,2

	4
	30
	2
	20
	1,1
	1,0
	1,1
	1,1
	0,7
	0,8
	0,7
	0,7
	0,5
	0,5
	0,5
	0,6

	4
	30
	2
	50
	0,6
	0,6
	0,7
	0,7
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,4
	0,4

	4
	30
	2
	100
	0,4
	0,4
	0,5
	0,5
	0,3
	0,3
	0,3
	0,4
	0,3
	0,3
	0,3
	0,3

	2
	15
	4
	10
	0,9
	1,0
	1,0
	1,1
	0,6
	0,6
	0,6
	0,6
	0,4
	0,4
	0,4
	0,4

	2
	15
	4
	20
	0,7
	0,7
	0,7
	0,7
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3

	2
	15
	4
	50
	0,4
	0,4
	0,4
	0,5
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,2
	0,2

	4
	30
	4
	20
	1,0
	1,1
	1,1
	1,2
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,6

	4
	30
	4
	50
	0,6
	0,6
	0,7
	0,7
	0,4
	0,5
	0,4
	0,5
	0,3
	0,4
	0,4
	0,4

	4
	30
	4
	100
	0,4
	0,5
	0,5
	0,5
	0,3
	0,3
	0,3
	0,4
	0,3
	0,3
	0,3
	0,3

	2
	15
	6
	10
	1,0
	0,9
	1,0
	1,0
	0,6
	0,6
	0,7
	0,6
	0,5
	0,5
	0,5
	0,5

	2
	15
	6
	20
	0,7
	0,7
	0,7
	0,8
	0,5
	0,5
	0,5
	0,5
	0,3
	0,3
	0,4
	0,4

	2
	15
	6
	50
	0,5
	0,5
	0,5
	0,5
	0,3
	0,3
	0,3
	0,3
	0,2
	0,2
	0,3
	0,3

	4
	30
	6
	20
	1,1
	1,0
	1,1
	1,2
	0,7
	0,7
	0,8
	0,7
	0,5
	0,5
	0,6
	0,6

	4
	30
	6
	50
	0,6
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5
	0,4
	0,4
	0,4
	0,4

	4
	30
	6
	100
	0,5
	0,5
	0,5
	0,5
	0,3
	0,3
	0,3
	0,4
	0,3
	0,3
	0,3
	0,3


Table 2b: Results for TDL-B channel model, FR1, PRS-RSRP at Es/Iot=-6 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	1,6
	1,6
	1,6
	1,7
	1,0
	1,0
	1,0
	1,0
	0,6
	0,7
	0,7
	0,7

	2
	15
	2
	20
	1,2
	1,1
	1,2
	1,2
	0,7
	0,7
	0,7
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	2
	50
	0,7
	0,7
	0,8
	0,8
	0,5
	0,5
	0,5
	0,5
	0,4
	0,3
	0,3
	0,4

	4
	30
	2
	20
	1,9
	1,9
	1,9
	2,0
	1,2
	1,2
	1,2
	1,2
	0,8
	0,9
	0,8
	0,9

	4
	30
	2
	50
	1,1
	1,1
	1,1
	1,1
	0,7
	0,7
	0,7
	0,8
	0,6
	0,6
	0,6
	0,6

	4
	30
	2
	100
	0,8
	0,8
	0,8
	0,8
	0,5
	0,5
	0,6
	0,6
	0,4
	0,4
	0,4
	0,5

	2
	15
	4
	10
	1,7
	1,8
	1,9
	1,9
	1,0
	0,9
	1,0
	1,0
	0,7
	0,7
	0,7
	0,7

	2
	15
	4
	20
	1,2
	1,2
	1,2
	1,2
	0,7
	0,7
	0,7
	0,8
	0,5
	0,5
	0,5
	0,5

	2
	15
	4
	50
	0,7
	0,7
	0,8
	0,9
	0,5
	0,5
	0,5
	0,5
	0,4
	0,4
	0,4
	0,4

	4
	30
	4
	20
	1,8
	1,9
	2,1
	2,1
	1,2
	1,1
	1,2
	1,2
	0,8
	0,8
	0,9
	0,9

	4
	30
	4
	50
	1,1
	1,0
	1,1
	1,2
	0,7
	0,7
	0,7
	0,8
	0,6
	0,6
	0,6
	0,6

	4
	30
	4
	100
	0,8
	0,8
	0,8
	0,9
	0,6
	0,6
	0,6
	0,6
	0,4
	0,4
	0,4
	0,4

	2
	15
	6
	10
	1,8
	1,6
	1,8
	1,7
	1,0
	1,0
	1,1
	1,0
	0,7
	0,7
	0,7
	0,7

	2
	15
	6
	20
	1,3
	1,2
	1,2
	1,4
	0,7
	0,7
	0,8
	0,7
	0,5
	0,5
	0,5
	0,5

	2
	15
	6
	50
	0,8
	0,8
	0,9
	0,8
	0,5
	0,5
	0,5
	0,5
	0,4
	0,4
	0,4
	0,4

	4
	30
	6
	20
	1,9
	1,8
	2,1
	2,1
	1,2
	1,2
	1,2
	1,2
	0,9
	0,9
	0,9
	0,9

	4
	30
	6
	50
	1,1
	1,1
	1,2
	1,1
	0,7
	0,7
	0,7
	0,7
	0,6
	0,6
	0,6
	0,6

	4
	30
	6
	100
	0,8
	0,8
	0,8
	0,8
	0,5
	0,5
	0,5
	0,5
	0,4
	0,4
	0,4
	0,5


Table 2c: Results for TDL-B channel model, FR1, PRS-RSRP at Es/Iot=-13 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	6,4
	6,7
	5,9
	5,8
	3,8
	4,4
	2,1
	3,8
	2,2
	2,2
	0,1
	0,3

	2
	15
	2
	20
	5,0
	5,5
	5,8
	5,5
	2,6
	2,6
	1,3
	2,6
	1,6
	1,6
	0,1
	0,1

	2
	15
	2
	50
	3,4
	3,7
	4,4
	4,7
	1,9
	1,8
	0,7
	1,9
	1,2
	1,2
	0,3
	0,2

	4
	30
	2
	20
	6,9
	7,3
	6,9
	6,5
	5,0
	5,1
	2,9
	5,0
	2,8
	2,8
	0,7
	0,9

	4
	30
	2
	50
	4,8
	5,3
	5,4
	5,7
	2,7
	2,7
	1,4
	2,7
	1,7
	1,7
	0,3
	1,0

	4
	30
	2
	100
	3,7
	3,7
	4,5
	4,7
	2,0
	2,1
	1,1
	2,0
	1,4
	1,4
	0,0
	0,9

	2
	15
	4
	10
	6,3
	6,8
	6,5
	5,9
	4,4
	4,1
	2,7
	4,4
	2,2
	2,3
	0,6
	0,3

	2
	15
	4
	20
	5,8
	6,4
	5,0
	5,5
	2,7
	2,6
	1,7
	2,7
	1,6
	1,7
	0,4
	0,1

	2
	15
	4
	50
	3,5
	3,3
	4,7
	4,5
	1,8
	1,9
	1,2
	1,8
	1,2
	1,1
	0,3
	0,2

	4
	30
	4
	20
	7,3
	7,2
	6,6
	6,2
	5,2
	4,7
	3,9
	5,2
	2,8
	2,7
	1,2
	1,1

	4
	30
	4
	50
	5,1
	4,7
	5,9
	6,5
	2,8
	2,7
	2,0
	2,8
	1,8
	1,7
	0,8
	0,9

	4
	30
	4
	100
	3,6
	3,9
	5,0
	5,4
	2,0
	2,1
	1,4
	2,0
	1,3
	1,4
	0,6
	0,9

	2
	15
	6
	10
	6,6
	7,5
	7,0
	5,2
	4,4
	4,1
	2,9
	4,4
	2,3
	2,2
	0,8
	0,2

	2
	15
	6
	20
	5,4
	5,7
	5,5
	6,2
	2,7
	2,6
	2,0
	2,7
	1,6
	1,7
	0,7
	0,1

	2
	15
	6
	50
	3,7
	3,6
	4,4
	4,3
	1,8
	1,8
	1,4
	1,8
	1,2
	1,2
	0,5
	0,2

	4
	30
	6
	20
	7,7
	7,4
	7,6
	7,1
	5,0
	5,0
	3,8
	5,0
	2,8
	2,7
	1,5
	1,1

	4
	30
	6
	50
	5,8
	5,4
	6,2
	6,3
	2,9
	2,8
	2,5
	2,9
	1,8
	1,8
	1,0
	1,0

	4
	30
	6
	100
	4,0
	3,8
	5,1
	5,4
	2,3
	2,0
	1,6
	2,3
	1,4
	1,4
	0,7
	1,0


2.3 Simulation results for TDL-C, FR1
Table 3a: Results for TDL-C channel model, FR1, PRS-RSRP at Es/Iot=-3 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	1,0
	
	1,1
	
	0,7
	
	0,7
	
	0,5
	
	0,6
	

	2
	15
	2
	20
	0,7
	
	0,8
	
	0,5
	
	0,5
	
	0,4
	
	0,4
	

	2
	15
	2
	50
	0,5
	
	0,5
	
	0,4
	
	0,4
	
	0,3
	
	0,3
	

	4
	30
	2
	20
	1,2
	
	1,2
	
	0,9
	
	0,9
	
	0,7
	
	0,7
	

	4
	30
	2
	50
	0,7
	
	0,8
	
	0,6
	
	0,6
	
	0,5
	
	0,5
	

	4
	30
	2
	100
	0,6
	
	0,6
	
	0,4
	
	0,4
	
	0,4
	
	0,4
	

	2
	15
	4
	10
	1,0
	
	1,1
	
	0,7
	
	0,7
	
	0,6
	
	0,6
	

	2
	15
	4
	20
	0,8
	
	0,8
	
	0,5
	
	0,5
	
	0,4
	
	0,4
	

	2
	15
	4
	50
	0,5
	
	0,5
	
	0,4
	
	0,4
	
	0,3
	
	0,3
	

	4
	30
	4
	20
	1,2
	
	1,3
	
	0,9
	
	0,9
	
	0,7
	
	0,7
	

	4
	30
	4
	50
	0,8
	
	0,8
	
	0,6
	
	0,6
	
	0,5
	
	0,5
	

	4
	30
	4
	100
	0,6
	
	0,6
	
	0,4
	
	0,4
	
	0,3
	
	0,3
	

	2
	15
	6
	10
	1,0
	
	1,1
	
	0,7
	
	0,8
	
	0,6
	
	0,6
	

	2
	15
	6
	20
	0,8
	
	0,8
	
	0,6
	
	0,6
	
	0,4
	
	0,4
	

	2
	15
	6
	50
	0,5
	
	0,5
	
	0,4
	
	0,4
	
	0,3
	
	0,3
	

	4
	30
	6
	20
	1,2
	
	1,3
	
	0,9
	
	1,0
	
	0,7
	
	0,7
	

	4
	30
	6
	50
	0,7
	
	0,8
	
	0,6
	
	0,6
	
	0,5
	
	0,5
	

	4
	30
	6
	100
	0,6
	
	0,6
	
	0,4
	
	0,4
	
	0,4
	
	0,4
	


Table 3b: Results for TDL-C channel model, FR1, PRS-RSRP at Es/Iot=-6 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	1,7
	
	1,8
	
	1,1
	
	1,2
	
	0,8
	
	0,9
	

	2
	15
	2
	20
	1,2
	
	1,3
	
	0,8
	
	0,8
	
	0,6
	
	0,6
	

	2
	15
	2
	50
	0,9
	
	0,9
	
	0,6
	
	0,6
	
	0,4
	
	0,4
	

	4
	30
	2
	20
	2,0
	
	2,0
	
	1,4
	
	1,5
	
	1,1
	
	1,1
	

	4
	30
	2
	50
	1,2
	
	1,3
	
	0,9
	
	0,9
	
	0,7
	
	0,7
	

	4
	30
	2
	100
	0,9
	
	1,0
	
	0,7
	
	0,7
	
	0,5
	
	0,5
	

	2
	15
	4
	10
	1,7
	
	1,9
	
	1,1
	
	1,1
	
	0,8
	
	0,9
	

	2
	15
	4
	20
	1,2
	
	1,3
	
	0,8
	
	0,9
	
	0,6
	
	0,6
	

	2
	15
	4
	50
	0,9
	
	0,9
	
	0,6
	
	0,6
	
	0,4
	
	0,5
	

	4
	30
	4
	20
	2,0
	
	2,2
	
	1,4
	
	1,5
	
	1,1
	
	1,1
	

	4
	30
	4
	50
	1,3
	
	1,3
	
	0,9
	
	0,9
	
	0,7
	
	0,7
	

	4
	30
	4
	100
	0,9
	
	0,9
	
	0,6
	
	0,7
	
	0,5
	
	0,5
	

	2
	15
	6
	10
	1,8
	
	1,8
	
	1,2
	
	1,2
	
	0,8
	
	0,9
	

	2
	15
	6
	20
	1,2
	
	1,4
	
	0,9
	
	0,9
	
	0,6
	
	0,6
	

	2
	15
	6
	50
	0,9
	
	0,9
	
	0,6
	
	0,6
	
	0,5
	
	0,5
	

	4
	30
	6
	20
	1,9
	
	2,1
	
	1,4
	
	1,5
	
	1,1
	
	1,1
	

	4
	30
	6
	50
	1,2
	
	1,3
	
	0,9
	
	0,9
	
	0,7
	
	0,7
	

	4
	30
	6
	100
	0,9
	
	1,0
	
	0,7
	
	0,7
	
	0,5
	
	0,5
	


Table 3c: Results for TDL-C channel model, FR1, PRS-RSRP at Es/Iot=-13 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	2
	15
	2
	10
	7,3
	
	7,1
	7,3
	4,5
	
	4,6
	
	2,6
	
	1,8
	

	2
	15
	2
	20
	5,4
	
	5,8
	5,4
	3,1
	
	2,6
	
	1,9
	
	1,2
	

	2
	15
	2
	50
	3,7
	
	3,9
	3,7
	2,2
	
	1,4
	
	1,3
	
	0,8
	

	4
	30
	2
	20
	7,4
	
	7,8
	7,4
	6,2
	
	4,9
	
	3,4
	
	2,5
	

	4
	30
	2
	50
	5,3
	
	6,3
	5,3
	3,4
	
	2,8
	
	1,9
	
	1,3
	

	4
	30
	2
	100
	4,3
	
	4,3
	4,3
	2,2
	
	1,9
	
	1,5
	
	1,0
	

	2
	15
	4
	10
	6,6
	
	7,7
	6,6
	5,0
	
	4,4
	
	2,6
	
	2,2
	

	2
	15
	4
	20
	5,5
	
	6,4
	5,5
	3,3
	
	2,8
	
	1,9
	
	1,6
	

	2
	15
	4
	50
	3,9
	
	4,4
	3,9
	2,0
	
	1,9
	
	1,3
	
	1,0
	

	4
	30
	4
	20
	7,9
	
	8,4
	7,9
	5,7
	
	5,1
	
	3,4
	
	2,9
	

	4
	30
	4
	50
	5,7
	
	6,3
	5,7
	3,3
	
	3,1
	
	2,0
	
	1,7
	

	4
	30
	4
	100
	4,3
	
	4,3
	4,3
	2,1
	
	2,1
	
	1,4
	
	1,1
	

	2
	15
	6
	10
	7,0
	
	7,2
	7,0
	5,1
	
	4,7
	
	2,7
	
	2,4
	

	2
	15
	6
	20
	5,6
	
	6,2
	5,6
	3,1
	
	3,2
	
	1,9
	
	1,6
	

	2
	15
	6
	50
	3,9
	
	4,4
	3,9
	2,1
	
	2,0
	
	1,3
	
	1,1
	

	4
	30
	6
	20
	7,9
	
	8,1
	7,9
	6,0
	
	5,9
	
	3,3
	
	2,8
	

	4
	30
	6
	50
	6,0
	
	6,4
	6,0
	3,1
	
	3,0
	
	2,0
	
	1,7
	

	4
	30
	6
	100
	4,6
	
	5,3
	4,6
	2,4
	
	2,2
	
	1,4
	
	1,3
	


2.4 Simulation results for TDL-C, FR2
Table 4a: Results for TDL-C channel model, FR2, PRS-RSRP at Es/Iot=-3 dB
	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	40
	120
	2
	50
	2,4
	
	2,6
	
	2,1
	
	2,1
	
	1,9
	
	1,9
	

	40
	120
	2
	100
	2,1
	
	2,2
	
	1,8
	
	1,8
	
	1,7
	
	1,8
	

	40
	120
	2
	200
	1,8
	
	1,8
	
	1,6
	
	1,6
	
	1,6
	
	1,6
	

	40
	120
	4
	50
	2,1
	
	2,2
	
	1,6
	
	1,7
	
	1,4
	
	1,4
	

	40
	120
	4
	100
	1,7
	
	1,7
	
	1,3
	
	1,3
	
	1,2
	
	1,2
	

	40
	120
	4
	200
	1,3
	
	1,3
	
	1,1
	
	1,1
	
	1,0
	
	1,0
	

	40
	120
	6
	50
	1,9
	
	2,1
	
	1,5
	
	1,5
	
	1,2
	
	1,2
	

	40
	120
	6
	100
	1,4
	
	1,5
	
	1,1
	
	1,2
	
	1,0
	
	1,0
	

	40
	120
	6
	200
	1,1
	
	1,2
	
	0,9
	
	0,9
	
	0,8
	
	0,8
	


Table 4a: Results for TDL-C channel model, FR2, PRS-RSRP at Es/Iot=-6 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	40
	120
	2
	50
	3,7
	
	4,1
	
	2,9
	
	2,7
	
	2,4
	
	2,4
	

	40
	120
	2
	100
	2,9
	
	3,1
	
	2,3
	
	2,4
	
	2,1
	
	2,1
	

	40
	120
	2
	200
	2,4
	
	2,4
	
	1,9
	
	2,0
	
	1,8
	
	1,9
	

	40
	120
	4
	50
	3,5
	
	3,6
	
	2,4
	
	2,4
	
	1,9
	
	1,8
	

	40
	120
	4
	100
	2,6
	
	2,7
	
	1,8
	
	1,9
	
	1,5
	
	1,5
	

	40
	120
	4
	200
	1,8
	
	1,9
	
	1,5
	
	1,5
	
	1,3
	
	1,3
	

	40
	120
	6
	50
	3,3
	
	3,6
	
	2,2
	
	2,3
	
	1,7
	
	1,7
	

	40
	120
	6
	100
	2,3
	
	2,3
	
	1,7
	
	1,8
	
	1,3
	
	1,4
	

	40
	120
	6
	200
	1,8
	
	1,8
	
	1,3
	
	1,3
	
	1,1
	
	1,1
	


Table 4c: Results for TDL-C channel model, FR2, PRS-RSRP at Es/Iot=-13 dB

	Freq

GHz
	SCS

kHz
	comb
	BW,

MHz
	Num_rep = 1
	Num_rep = 4, gap=1
	Num_rep = 16, gap=1

	
	
	
	
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%
	Sync, 50%
	Sync, 100%
	Async, 50%
	Async, 100%

	40
	120
	2
	50
	8,1
	
	8,0
	
	8,4
	
	7,6
	
	6,4
	
	4,8
	

	40
	120
	2
	100
	8,2
	
	8,4
	
	7,0
	
	5,8
	
	4,0
	
	3,3
	

	40
	120
	2
	200
	7,5
	
	7,4
	
	5,2
	
	4,5
	
	3,2
	
	2,2
	

	40
	120
	4
	50
	8,3
	
	8,6
	
	8,0
	
	7,4
	
	5,5
	
	4,9
	

	40
	120
	4
	100
	8,1
	
	8,7
	
	6,5
	
	5,9
	
	3,9
	
	3,2
	

	40
	120
	4
	200
	7,6
	
	6,5
	
	4,5
	
	3,8
	
	2,8
	
	2,2
	

	40
	120
	6
	50
	7,3
	
	7,8
	
	8,3
	
	7,7
	
	4,8
	
	5,1
	

	40
	120
	6
	100
	7,6
	
	7,6
	
	6,4
	
	6,3
	
	4,0
	
	3,4
	

	40
	120
	6
	200
	6,4
	
	7,0
	
	4,3
	
	4,0
	
	2,6
	
	2,3
	


3 Summary

The following has been observed and proposed in this contribution:
· Observation: Multiple repetitions (or more generally comb realizations) provide gains; 16 repetitions are necessary at Es/Iot=-13 dB.

· Proposal 1: The proposals on the number of comb realization for PRS-RSRP accuracy requirements can be collected according to the format:

	FRx, SCS, number of PRBs
	Minimum number of comb realizations

	
	Es/Iot≥-3
	Es/Iot≥-6
	Es/Iot≥-13

	FR1, 15 kHz, ≤52 PRBs (10 MHz)
	X
	Y
	Z


· Proposal 2: The proposals on the number of comb realization for PRS-RSRP accuracy requirements can be collected according to the format:

	FRx, SCS, number of PRBs
	Minimum number of comb realizations

	
	Es/Iot≥-3
	Es/Iot≥-6
	Es/Iot≥-13

	FR1, 15 kHz, ≤52 PRBs (10 MHz)
	2
	4
	16

	FR1, 15 kHz, ≤104 PRBs (20 MHz)
	2
	2
	8

	FR1, 15 kHz, >104 PRBs
	1
	1
	1

	FR1, 30 kHz, ≤48 PRBs (20 MHz)
	2
	4
	16

	FR1, 30 kHz, ≤132PRBs (30 MHz)
	2
	2
	8

	FR1, 30 kHz, ≤272 PRBs (100 MHz)
	1
	1
	1

	FR2, 120 kHz, ≤32 PRBs (50 MHz)
	2
	4
	16

	FR2, 120 kHz, >32 PRBs
	1
	1
	1
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